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brad.wheeler
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#1) 2 pts

brad.wheeler
Text Box
#2) 8 pts total
2 pts for each part
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brad.wheeler
Text Box
#3) 12 pts total
a) 3 pts:  1 each for magnitude, pole frequency, -45 degrees at pole frequency 
b) 3 pts: same as (a)
c) 2 pts
d) 2 pts
e) 2 pts
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#4) 8 pts total
a) 1 pt
C> T = } ns ,gc/ 5(0449 /OOF b) 2 pts, must show
exponential and correct
final value
c) 1 pt
d) 2 pts, same as (b)
e) 2 pts, much steeper,
different final value

1% =0 Ins

6> PN’)' (49) Woi | Q loole /;[éc A §%m(!5[r}

vertcal Py o The Ax[s wed oo
P /4 002 Ad it o /\/ qoes op fe
0V irsded  of [0mV/,



brad.wheeler
Text Box
#4) 8 pts total
a) 1 pt
b) 2 pts, must show exponential and correct final value
c) 1 pt
d) 2 pts, same as (b)
e) 2 pts, much steeper, different final value
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#5) 10 pts total

a) 4 pts, 1 each for
magnitude, pole
frequency, 1/w"2
rolloff, -90 deg at
poles

b) 2 pts

C) 2 pts

d) 2 pts
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#6) 21 pts total

a) 2 pts, 1 each for
magnitude, pole
frequency

b) 4 pts: low frequency
capacitance, high frequency
capacitance, pole+zero
frequencies

C) 4 pts: 1 for each region
d) 2 pts: getting the low
frequency gain right; shape
should be the same as 6¢
e) 3 pts: low freq gain, st
pole, 2nd pole

f) 2 pts

g) 2 pts

h) 2 pts
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brad.wheeler
Text Box
#6) 21 pts total
a) 2 pts, 1 each for magnitude, pole frequency
b)  4 pts: low frequency capacitance, high frequency capacitance, pole+zero frequencies 
c) 4 pts: 1 for each region 
d) 2 pts: getting the low frequency gain right; shape should be the same as 6c 
e) 3 pts: low freq gain, 1st pole, 2nd pole 
f) 2 pts
g) 2 pts
h) 2 pts

brad.wheeler
Text Box
#5) 10 pts total
a) 4 pts, 1 each for magnitude, pole frequency, 1/w^2 rolloff, -90 deg at poles
b) 2 pts
c) 2 pts
d) 2 pts


Bode plot for problem 5a) and 6¢)
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#7) 8 pts total (EE240 only)

+2 pts Expected gain error from f

+2 pts Does it depend on f

+2 pts Temp difference for same error
+2 pts Minimum gain necessary



brad.wheeler
Text Box
#7) 8 pts total (EE240 only)
+2 pts Expected gain error from f
+2 pts Does it depend on f
+2 pts Temp difference for same error
+2 pts Minimum gain necessary


Problem 6, part a) Second stage gain — [Ay,of; part d) |Ay; |
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problem 6, part b) magnitude of second stage input (Miller) capacitance
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problem 6, part ¢) second stage input impedance, and R,

™ AN [og

100k

|Zio]

10k

1k

1 1k IM 1G rad/s






